
Discussion Activity about Indefinite Integrals, to Accompany H71 (Section 5.1 Concepts) 

One of these four solutions is correct. 

Each of the other solutions has at least one invalid step.  

The equal signs are all numbered. Discuss the validity or invalidity of each equal sign. 

Conclude by saying which solution is the correct one. 

(𝒂)  ∫ 𝑥(𝑥2 + 1)𝑑𝑥 =
(1)

𝑥2

2
(

𝑥3

3
+ 0) + 𝐶 =

(2)

𝑥5

6
+ 𝐶 

 

(𝒃)   ∫ 𝑥(𝑥2 + 1)𝑑𝑥 =
(1)

𝑥2

2
(

𝑥3

3
+ 𝑥) + 𝐶 =

(2)

𝑥5

6
+

𝑥3

2
+ 𝐶 

 

(𝒄)   ∫ 𝑥(𝑥2 + 1)𝑑𝑥 =
(1)

∫ 𝑥3 + 𝑥𝑑𝑥 =
(2)

𝑥4

4
+ 1 + 𝐶 

 

(𝒅)    ∫ 𝑥(𝑥2 + 1)𝑑𝑥 =
(1)

∫ 𝑥3 + 𝑥𝑑𝑥 =
(1)

𝑥4

4
+

𝑥2

2
+ 𝐶 

 

The next page is blank, for writing notes.   



 

  


